Manifold: Series VVEX

Specifications

How to Order Manifold Base

Series VEX3
Manifold Specifications

Model VVEX2 VVEX4
Applicable valve VEX3220/3222 VEX3420/3422
Valve stations Note) 2t08 2t06

Port specifications

Common SUP, EXH

Pilot type Internal pilot, Common external pilot
Common external pilot port size M5 x 0.8 Length of thread 5

P

3 3 1

Port size R Va e e /2

A Va Y8 ¥

. VEX1-17 VEX4-5

MG denling e (With gasket, screw) (With gasket, screw)

port on both sides.

Note) When series VVEX2 is used with more than 5 stations, or Series VVEX4 is used with
more than 4 stations, apply pressure to the P port on both sides and exhaust from the R

|External Pilot Piping

VVEX2-2

P1 (External pilot port—MS5 plug)

o

T

)

P1 Common external pilot port

.(5.. ;é}ﬁ \ P2 Pilot exhaust port

T I— 1 Thread type
Nil Rc
N NPT
F G
T NPTF
Valve
Body size s Pilot type stations Port size
. . . Valve Port size
Body size Pilot type Applicable valve| gtations Port | P | R | A
2 2
1 Internal pilot VEX3222 g :
2 [Air operated: j 6 | 6 | 02 Ya
2 |Common external pilot VEX3220 Mot 8 :
8
1 Internal pilot VEX3422 2 2 A Ye [ Va
4 Air operated: : : B ¥
2 |Common external pilot|| VEX3420 Note) 6 6 c A [ A

VVEX4-2

P1 (External pilot port—MS5 plug)

@2

* P2 Pilot exhaust port

P1 Common external pilot port

Note) Air operated

VEX 3220 and VEX3420 (air operated) are used.
Distinction between the pilots (internal or extertal
pilot) of the manifold base does not matter. Either
may be used.

Example for ordering a manifold base:
The valve and blank plate for manifold arrangement
should be specified in order from the left side of the
manifold base (with the A port on your side).
(Example)

VVEX2-2-7-02N

*VEX3222-1LN —6 pcs. .
#VEX1-17 ———1 pc, | Solenoid
VVEX4-2-6-A

*VEX3420 5pcs.| ,.

+VEX4-5 1 pe. }A|r operated

O

5-9-25

AN
AMC




Series VEX3

Manifold: VVEX2-[J

VVEX2-1 Applicable valve: VEX3220/3222 Valve mounting side

Pilot port Pilot port

Manifold base Blanking plate
VEX1-10-3-np VEX1-17 & %
\ ¢
| =— A port
| —7 B ‘ p ‘ A port
7 P (= == @ Internal pilot type = Common external pilot
- o & L
Manual override
(Non-locking push)
Common external pilot port 2-R port: Rc 1/4
\2—M5 x 0.8 depth 5 Exhaust from both sides when there are 5
. .%t”r \ or more stations
i -
= 9
ﬁ Fﬂ ﬁ Fgl 2-M5 x 0.8 depth 5 ’j H( 30.5 S
gty Pilot port / 2-96.5 [L- 135 g
Mounting hole 2 =
Hori [H-or1 [ or[ o1 &m|< P \32 o =
— j { N~ S| €| ©
| { I — 4 0 9| © o
. - =l =| =
- B B BB B <3 l/ ;31? SEery S
° {P’ K Sk a = & 3 0 %
| 0 < =
ol e @ ¢ |e ol | g B |5 ==
L n_ /‘\ o 2
P=Sll. 4 225 130 24 2-P port: Rc 1/4
L2 75 75 (M Supply from both sides when there
M) are 5 or more stations
L1 84 (L)

Manual override
(Non-locking push)

I Ve e Fca e
. o0 %S 20 52 S il
@ =
©
A A 2
DO O D Ol OT1a”
n-Re %4 P=31 30
L Dimension Equation L1 = 46n + 31, L2 = 46n + 15 n: Station
L n_ 2 3 4 5 6 7 8
L1 91 122 153 184 | 215 | 246 | 277
L2 76 107 138 169 | 200 | 231 262
5-9-26

O
5



Power Valve: 3 Position Valve Series VEX3

Manifold: VVEX4-O1

VVEX4-1 Applicable valve: VEX3420/3422 Valve mounting side
VVEX4-2 Applicable valve: VEX3420/3422
Pilot port m;%
ngzx
O @
o w\ S
Manifold base Blanking plate {
VEX4-3A-58-np VEX4-5 / } Aport | Aport
Internal pilot type = Common external pilot
!
Q a0|® = © l@ - 7 ]
e e = 2
kd X S
© &)@ 9 45
Common external pilot port 2-R port: Rc 1/2, 3/8
\ 2-M5 x 0.8 depth 5 / Exhaust from both sides when there
Manual override L are 4 or more stations
(Non-locking push) H— " wg\
ﬁ 2-M5 x 0.8 depth 5 il " 3
| Pilot port - =
1 14 ° 2-28.5 n 20.5 g
H &p1 ©P1 | P Mounting hole 1 P 5
] PG | &Pl ) o £l _
o < 22
— i R Y. SN et | &| v
‘Q Q Q @ Iz R e @ 2y [ & 5|y
] W’I o} g A
& | 4 ! —1 8 8 5 x
- o =
Q 3 a: «@ <o
) - — o 8V}
L 9 |9 L o B S 2,8
P=46 <)<) ol 30.5 36 30 2-P port: Rc 1/2, 3/8
Supply from both sides when there
L2 8 88 (M) are 4 or more stations
L 96 (M)
OO~
. Nals/ || Sele?
8
A A te)
M~
> © O ru
of
n—Rc }4,% P =46 38.5
L Dimension L+ =46n + 31, L2 = 46n + 15 n: Station
L J) 2 3 4 5 6
L1 123 169 215 261 307
L2 107 153 199 245 291

SVC 5-9-27

O

> =






